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FIRST YEAR HIGHER SECONDARY

SECOND TERMINAL EVALUATION : DECEMBER-2018

Part-111
COMPUTERAPPLICATION (COMMERCE)
Maximum : 60 Scores

Time : 2 Hours
Cool-off Time : 15 Minutes

/ General Instructions to _Candidates:

* Thereis a ‘Cool off time’ of 15 minutes in addition to the writing time.

+ Use the ‘Cool off time’ to get familiar with questions and to plan your answers.

» Read questions carefully before answering. '

* Read the instructions carefully.

* Calculations, figures and graphs should be shown in the answer sheet itself.

= Malayalam version of the questions is also provided. |

* Give equations wherever necessary.

»  Electronic devices except non programmable calculators are not allowed in the Examination Hall.
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¢ MdGladis MaEEle ayoea 15 Almlg ‘@1 &oad eesc HMEoRI@lee 0

HIBQIUIIH6) J .
¢ HEMOEBUWD ag)PIIMBIM MM 8106 EMBR YBRLIAIBAle UOWBeEMo.
» MIBGRUWEBGR MYPIIMio YBRLIAIBQJe auowlessmo |

96m0QIBlenemo. z
© G2I0B)BR aalwigeTlallo MMLlRlgens.
« EDOUMIDIRE CUORIED (VRIS IIBWD 61d:0S1866eMo.

\ EDRIBBISOMIEs HaldhdemMLo alBldHd andgld HaleQIUleninIoM aldsig).

<

© ‘@@ 600l ©6SC’EIBIBR alflaiQWeR|SOMIo HEODOENBUD ERIV(@EMOo 6)21QIOM 0

© BN BdGeRHRB, allOEBD, (N0aniE®D, agomlal 9EBEEaIOTE ®6eam

* GalO(MIDIBHD  H2AUYIMOIDHOB®H  HIRLHICRIGOIMH D  BFloHW 88 B0Y

FSE 46 Computer Application (Commerce) 1/7

!


https://ditto.ws

PART-A.

Answer all questions from 1 to 5. Each gquestion carries 1 Score: . (5x1=5)

1 DIBOE 5 AUOO R0 BLIOBYETRRDEE L0 HEHOEDLIM . 1 808 aflro

L.

o

e

CC eEeuUBId eddeariouiando d  modesm myoadieg]

Expand the term ISCII.
ISCIl @95 o 3B6mazaio

~ \

Name the utility software speeds up disk access by«r’earran‘ging the files and free space in

. the hard - disk. _ . i X :

a00da” AWlu&lea 8¥lemm qABIEBW (E0ldola) amnpfoe;lael WoReW SUNEDIE
ag)SaBMENMas @ydleld emoadghaIRGIOM Gald ag)Pi®is:.

‘What is the difference between a++ and ++a?

a ++9o ++ a o molen@s ly® Mo ag)TMIEN ?
The multiple use of input or output operators in a single C++ statement is called

8oy C++ sgugeaf@idd emid @ysimad ®UE 0Malls /| 8V5alS B6alB0R0LMM
9alCWOUSlHeIMBIOHM ------- agyemy aliglesym,,

Who developed C++ programming language.

a.  Charles Babbage b.  Dennis Ritchie

¢. Brain Kernighah d.  Bjarne Stroustrup
CH++ éomdm)g,ms 6IZEMOMOLOD ?

a oo enuesm)e’ b.  ewmilnydlaf

w

PART-B

Answer any 9 questions from 6 to 16. Each question car:«es 2 Scores. (9x2=18)

6 D)@ 16 UOHOWIRS €2 1036038 aRe®EIR0 9 af)ENETT DIHHOAPI®IMS. 2 300 allmo.

6.

How are non-graphic characters represented in C++7 Give an example,
C++ 601 amnaend(0atlds & 0050 @ (GBI e Me@EBOHM ? HEOADDIMODLIMIE:.
Do the following conversions.

aflguEa 0@l aly@laflen .
a (24 ,to(__ ),

b.  (752),t0 () 6
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10.

11.

12.

13.

14.

Mr Stephen says, ‘Unicode is more advantageous fhan ASClII code’ Justify his statement.
@ emleowosm ASCII es00lemancd e 988, milaood mooes)g,%aag aﬂ}sﬂoe:m’lces)&oe;. _
Claésify the following terms into Iriput devices, Output devices, Memory and Sofiware.
@6 6)09308&(5@'](5]066)&@0_16:;) snMalls, 8950118, HOMG], GaiFeIWd agaT aineeglsd
oI B1B6) 3.

Hard Disk, Mouse, Oﬁerath;g System, VDU, Asseinbler, OMR, LCD, ROM
Differentiate between freeware and shareware s/w

OO0, HAHWRHAUUWOY GIOBER Y0 6)2IGj4db.

Find out the invalid identifiers among the following. Give reason for invalidity
TLOWIORIROETE HaGWElRNRCE:68 HTMDSETTHSIET @HIDEMe (U JBHMAIBEIE:.

a. _sum ~b. break c. Prod5 d. dayname

Dgﬁne tokens. List any two types of tokens in C++.

8500661 (i 2 lo6id. agio®eslaijo P6NE BSIBHEMIBHAINS CalORPI® ks

Predict the output of the following C++ expressions, if p=50 and g=7.

895035 a2 6.
a. p%q
b. p/=10

Rewrite the following statement using if ..... else statement.
if - else 9aliewIrl o] ®36¢ 6B:05ETBLHIMAL AOFIORLI® .

da=bpay >=25000? bpay * 0.5:bpay*0.1;
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1s.

l6.

17.
18.
19.

20.

21.

What are data types? List all the basic data types in C++7?
awog 66Sa] ag)MIM ag)(Te ? GRSITROIM ALOROOOSAIBBIOS Bald af)FIMb:.
Why is it important to use comments in C++? What are the two types of comments?

CH++ @ a0 af)9I6mENs® @om OCUUYDIOEMATT alOWAMOMDIOE6NE 7 B6NBY MO
SHARIHD afO@IODHE 7.

PART-C

Answer any 9 questions from 17 to 27. Each question carries 3 Scores. (9%3=27)
17 mg,a»aﬁ 27 QUOR €206 ARSI ago®esIRljo 9 ag)egrgmim@m‘cos)m?g@&@. 3 ie0d aflmo
Computers are more efficient than human beings: Comment .on it. Justify ydur answer.
QML JENDHOWD drgSOTD @FLRRAUIENT BTUPSOLER. Tlailder®leoe .

Represent - 29 in 2’s complement form (Word size 8 bit)

-29 6m 2’S 8d»oog flondd dlaleieeissy aogie..

Briefly explain the type modifiers in C++.

C++ ol 665a] e20Wla0@AIEM £ 21301867 ag)Py® 1.

Identify the port which uses the following symbol and list out any two advantages.

®06Y OB0SIEHTBOHIM EatodS ag@®IeeMATY amq@laoss] @oaof agomsleiio osneg
BRDEOSL IS : ’

Match the following
62103onlS] BoIBe)
A B
i. Winzip a. Secondary Storage device
ii. RAM b. Input Device
iii. Light Pen c. Application Software
iv. Hard Disk d. Primary Memory
v. Open Office calc e. Output Device
vi. Plotter f. System software
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22.

23.

24.

25.

26.

27.

-

Before writing a program, it is always advisable to draw a flow-chart . Justify the statement

by giving the advantages of it.
3q002100]6)H CRONBORP JB .
List and explain any three e-waste disposal methods.
a@eOmeBsleljo MM e- euy mildacdem Gle e o:nm(o%e@g,oe:.
List out the various phases in programming,.
Blolowodlssdlom Alaflw RISEIBM ag)P i@ ids.
Explain the different types of logical operators in C++.
“CH+ orl 80&len® 600]B0RNLG08 & Tlal ag)Pimid:.
Briefly explain three types of errors in program.
BlatO(EHOMIRILENBOEOCLYM ‘BIIM MO0’ HDRIHOR iOlo] ll@lee .
Rewrite the following code segment using select case
@06Y¥ 6&:053awidlen I CH++ sony ‘Select - case’ patewouilaf @og] ag)Pi®id.
if (color==*w’)
cout<<*“White”;
else if (color == ‘0’)
cout << “orange” ;.
else

cout << “wrong selection”;.
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. PART-D i
Answer any 2 questmns from 28 to 30. Each questlon carries 5/Scores. (2% 5-1 0)
28 oym@) 30 Qe ogga@aa;lm&o 2 agysmoia’ Q(GTU)(OG)(D‘P&('G)&:B: 5 Mz alloo

28. a | Followmg algonthm is to print first 10 multlples ofa glven number, some lines are
missing. Fill the missing lines and complete it. , (Score : 2)

B} M6 HBIS)H6IEMIRD @EeND 10 1IIMEIBR BI51AI0MIEE ERMEDOGI®o GIEY
D08 OG8N (15380 10@ QUMD al3BESE:ElE0YH.

Step 1: Start
Step 2: Input N
Step 3: a=1
Step 4: |
Step 5: Print prod
Step 6:
/ Step 7: Repeat steps 4 to 6 while (a<=10)
| Step 8: Stop
'b.  Draw éhowchaft for the above algorithm. ‘ (Score: 3) -
M@ ©:053E0ElEOIM@N6MR 8o 02I0dS ORIBELH:.
29. / Consider the following C++ code
®06)% 0108 AT @l M C++ 88005 aIBINETI B8 .
sum=0;
,i=2;
do
{
©sum=sum-+i;
i=i+2;
ywhile(i<10);

cout<<sum;
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a. What will be the output of the above code segment g (Score :" 1)
@& \6)@5?5&(5755](6]0:96)3“0 BOWIOR 2950 14T ag) LD IB.

. b Idéntify\the following four loop components from the above code.  (Scor€ : 2)

-

m&oe;glm% g)oeaosg(o‘rzsﬂ(dl@e_s)gm ssouees Moel o] RISHEBUD ag)P 1 )b:.

- Initialization expression

Body

T.,:est' exPression\
Updaté expression _ .

C. Rev‘Vrite_ the code using for loop. o (Score : 2)
For engﬁgo_lec_n)ocf)'l_«yfcceaoap"mog'locm?&@ye;.

With the help of a block diagram explain the functional units of a computer.

BERJOHE) WGP MVOIWEBBINS BT JSAE(E (o IUBBBHM CLISH6DB(D oﬂmcdlm&oea.

-
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